

AN IMPROVEMENT OF CAUCHY RADIUS
FOR THE ZEROS OF A POLYNOMIAL

SUBHASIS DAS

Abstract. For a given polynomial

$$p(z) = a_n z^n + a_{n-1} z^{n-1} + \cdots + a_1 z + a_0$$

of degree n with complex coefficients, the Cauchy radius r_0 is a unique positive root of the equation

$$|a_n| t^n - (|a_{n-1}| t^{n-1} + |a_{n-2}| t^{n-2} + \cdots + |a_1| t + |a_0|) = 0.$$

It refers to a radius of the circular region $|z| \leq r_0$ in which all the zeros of $p(z)$ lie. The basic aim has been to determine the smallest radius, thereby, minimizing the area of the circular region. In this present paper, we have obtained a result which gives an improvement of the Cauchy radius. Also, we produce an annular region whose center is different from the origin in which the zeros of $p(z)$ lie. Moreover, in many cases, our results give better approximations for estimating the region of polynomial zeros than that obtained from many other well-known results.

MSC 2020. 30C15, 30C10, 26C10.

Key words. Zeros of polynomials, annular region, Cauchy radius.

1. INTRODUCTION AND STATEMENT OF RESULTS

Let

$$p(z) = a_n z^n + a_{n-1} z^{n-1} + \cdots + a_1 z + a_0$$

be a polynomial of degree n with complex coefficients. Concerning the bounds for the moduli of the zeros of $p(z)$, Cauchy [3] (see also [12, Chapter VII, Section 27, Theorem 27.1]) introduced the following result.

THEOREM 1.1 ([12]). *All the zeros of $p(z)$ lie in the closed circular region*

$$|z| \leq r_0,$$

where r_0 (also called Cauchy radius of $p(z)$ and is denoted by $\rho[p(z)]$) is the only positive root of the equation

$$|a_n| t^n - (|a_{n-1}| t^{n-1} + |a_{n-2}| t^{n-2} + \cdots + |a_1| t + |a_0|) = 0.$$

Corresponding author: Subhasis Das.

An improvement of Cauchy radius of $p(z)$ was found in [14, Theorem 8.3.1] by Rahman and Schmeisser that can be written as follows.

THEOREM 1.2 ([14]). *All the zeros of $p(z)$ lie in the closed circular region*

$$|z| \leq \rho \left[\left(a_n z^k - a_{n-k} \right) p(z) \right],$$

where k is the smallest positive integer such that $a_{n-k} \neq 0$. Moreover

$$\rho \left[\left(a_n z^k - a_{n-k} \right) p(z) \right] \leq \rho [p(z)].$$

In the literature there are some results (see [1, 4, 7–9, 13–15]) on the refinement and improvement of Theorem 1.1.

In this paper, we have obtained some new results on polynomial zeros. The upper bound of our first result gives an improvement of the Cauchy radius of $p(z)$ in Theorem 1.1. The second result produces a circular or an annular region whose center is different from the origin. More precisely, we prove the following.

THEOREM 1.3. *All the zeros of $p(z)$ lie in the closed circular region*

$$|z| \leq t_0,$$

where t_0 is an unique positive root of the equation

$$|a_n|^2 t^{2n} - \sum_{j=1}^n |c_{n-j}| t^{n-j} = 0, \quad \text{where } c_{n-j} = \sum_{k=0}^{n-j} a_k \lambda_{n-j-k}; \quad j = 1, 2, \dots, n$$

and the values $\lambda_0, \lambda_1, \lambda_2, \dots, \lambda_{n-1}$ are determined by solving the n equations

$$\sum_{k=0}^j a_{n-j+k} \lambda_{n-k} = 0; \quad j = 1, 2, \dots, n$$

with $\lambda_n = a_n$. Moreover, when $a_0 \neq 0$, the zeros of $p(z)$ lie in the closed annular region

$$\frac{1}{t'_0} \leq |z| \leq t_0,$$

where t'_0 is an unique positive root of the equation

$$|a_0|^2 t^{2n} - \sum_{j=1}^n |c_j^*| t^{n-j} = 0,$$

where

$$c_j^* = \sum_{k=0}^{n-j} a_{n-k} \lambda_{j+k}^*; \quad j = 1, 2, \dots, n$$

and the values $\lambda_1^*, \lambda_2^*, \dots, \lambda_n^*$ are determined by solving the n equations

$$\sum_{k=0}^j a_{j-k} \lambda_k^* = 0; \quad j = 1, 2, \dots, n$$

with $\lambda_0^* = a_0$.

Using Theorem 1.3, we obtain the following result.

THEOREM 1.4. *All the zeros of $p(z)$ lie in the closed circular region*

$$|z - z_0^*| \leq \rho_0,$$

where ρ_0 is an unique positive root of the equation

$$|a_n|^2 t^{2n} - \sum_{j=1}^n |c_{n-j}| t^{n-j} = 0, \text{ where } c_{n-j} = \sum_{k=0}^{n-j} d_k \lambda_{n-j-k}; \quad j = 1, 2, \dots, n$$

and the values $\lambda_0, \lambda_1, \lambda_2, \dots, \lambda_{n-1}$ are determined by solving the n equations

$$\sum_{k=0}^j d_{n-j+k} \lambda_{n-k} = 0; \quad j = 1, 2, \dots, n \text{ with } \lambda_n = d_n = a_n,$$

$$d_p = \binom{n}{n-p} a_n (z_0^*)^{n-p} + \binom{n-1}{n-p-1} a_{n-1} (z_0^*)^{n-p-1} + \dots$$

$$+ \binom{n-k}{n-p-k} a_{n-k} (z_0^*)^{n-p-k} + \dots + \binom{p+1}{1} a_{p+1} z_0^* + \binom{p}{0} a_p;$$

$$p = 0, 1, 2, \dots, n$$

with

$$\binom{0}{0} = 1, \quad (z_0^*)^0 = 1, \quad \binom{r}{-j} = 0, \quad \binom{r}{0} = 1; \quad r, j = 1, 2, \dots, n,$$

and

$$z_0^* = -\frac{a_{n-1}}{na_n}.$$

Moreover, when $d_0 \neq 0$, the zeros of $p(z)$ lie in the closed annular region

$$\frac{1}{\rho'_0} \leq |z - z_0^*| \leq \rho_0,$$

where ρ'_0 is an unique positive root of the equation

$$|d_0|^2 t^{2n} - \sum_{j=1}^n |c_j^*| t^{n-j} = 0,$$

where

$$c_j^* = \sum_{k=0}^{n-j} d_{n-k} \lambda_{j+k}^*; \quad j = 1, 2, \dots, n$$

and the values $\lambda_1^*, \lambda_2^*, \dots, \lambda_n^*$ are determined by the n equations

$$\sum_{k=0}^j d_{j-k} \lambda_k^* = 0; \quad j = 1, 2, \dots, n$$

with $\lambda_0^* = d_0$.

In the particular case when $a_{n-1} = 0$, Theorem 1.4 reduces to Theorem 1.3.

REMARK 1.5. The result in Theorem 1.3 attains its limits (both lower and upper bounds) by the polynomial $p(z) = a_n z^n + a_{n-1} z^{n-1} + \cdots + a_1 z + a_0$, where $a_0 = a_1 = \cdots = a_{n-1} = a_n = 1$ which can be seen by observing that $\lambda_n = \lambda_n^* = 1, \lambda_{n-1} = \lambda_{n-1}^* = -1, \lambda_j = \lambda_j^* = 0; j = 0, 1, \dots, n-2$ and $|a_n| = |a_0| = 1, |c_{n-1}| = |c_1^*| = 1, |c_{n-j}| = |c_j^*| = 0; j = 2, 3, \dots, n$, and therefore, $t_0 = t'_0 = 1$.

REMARK 1.6. For $a_0 = 0$, Theorem 1.3 and Theorem 1.1 never produce an annular region with the center in the origin for the location of zeros of $p(z)$. Here, both theorems give a circular region for polynomial zeros with center in the origin. However, when $a_{n-1} \neq 0$, Theorem 1.4 produces an annular region of zeros of $p(z)$ with center

$$z_0^* = -\frac{a_{n-1}}{na_n},$$

even though $a_0 = 0$.

REMARK 1.7. In many cases, our results give better regions related with the Cauchy region and its subsequent refinements. To illustrate this, we consider two types of polynomial, one having no gaps and the other whose second highest term is absent i.e., Lacunary type [12, Ch. VIII, Sect. 34, p. 156] defined by

$$p(z) = z^6 + 6z^5 - 49z^4 - 374z^3 + 216z^2 + 5600z + 9600$$

and

$$P(z) = z^5 + 2z^3 + 3z^2 + 4z + 5,$$

respectively.

We see that all the zeros of $p(z)$ lie in the following regions.

- (i) $|z| \leq 12.6028$, by Theorem 1.1,
- (ii) $|z| \leq 10.8869$, by Theorem 1.2,
- (iii) $|z| \leq 9.8240$, by Melman [13, Theorem 3.1] (which is the smallest),
- (iv) $|z| < 24.5705$, by Sun and Hsieh [15, Theorem 1],
- (v) $|z| < 31.9259$, by Bairagi, Jain, Mishra and Saha [1, Corollary 1.1],
- (vi) $|z| \leq 14.5184$, by Jain [9, Theorem 1],
- (vii) $|z| < 14.2048$, by Lagrange [11] (see also [2, Theorem 1.1]),
- (viii) $|z| \leq 14.1031$, by Batra, Mignotte and Ştefănescu [2, Theorem 3.1],
- (ix) $|z| \leq 101.511$, by Dehmer and Mowshowitz [7, Theorem 2],
- (x) $|z| < 240.6768$, by Dehmer and Mowshowitz [7, Theorem 3],
- (xi) $2.1576 \leq |z| \leq 7.9261$, by Theorem 1.3,
- (xii) $1.5866 \leq |z+1| \leq 8.1813$, by Theorem 1.4.

Again, using either Theorem 1.3 or Theorem 1.4, all the zeros of $P(z)$ lie in

$$1.0278 \leq |z| \leq 1.7803,$$

whereas the regions obtained by previous well-known results are as follows:

- (i) $|z| \leq 2.1719$, by Theorem 1.1,
- (ii) $|z| \leq 1.7863$, by Theorem 1.2,
- (iii) $|z| \leq 1.8932$, by Melman [13, Theorem 3.1] (which is the smallest),
- (iv) $|z| \leq 5.9993$, by Datt and Govil [5, Theorem 1],
- (v) $|z| \leq 2.8564$, by Lagrange [11] (see also [2, Theorem 1.1]),
- (vi) $|z| \leq 2.8425$, by Batra, Mignotte and Ştefănescu [2, Theorem 3.1],
- (vii) $|z| \leq 5.9482$, by Jain [8, Theorem 1],
- (viii) $|z| < 2.2566$, by Jain [9, Theorem 1],
- (ix) $|z| < 2.3507$, by Bairagi, Jain, Mishra and Saha [1, Theorem 1.5],
- (x) $|z| \leq 2.3744$, by Sun and Hsieh [15, Theorem 1],
- (xi) $|z| \leq 5.9993$, by Dehmer [6, Theorem 3.2],
- (xii) $|z| \leq 5.9998$, by Dehmer [6, Theorem 3.3].

2. PROCEDURE TO DETERMINE T_0 AND T'_0 IN THEOREM 1.3

We can easily determine the values of t_0 and t'_0 in Theorem 1.3 by the following steps:

Step 1. For a given polynomial

$$p(z) = a_n z^n + a_{n-1} z^{n-1} + \cdots + a_1 z + a_0$$

with $a_0 \neq 0$, let us construct two lower triangular matrices \bar{A} and \bar{A}^* with diagonal elements a_n and a_0 respectively as follows:

$$\bar{A} = \begin{pmatrix} a_n & 0 & 0 & \cdots & 0 & 0 & 0 \\ a_{n-1} & a_n & 0 & \cdots & 0 & 0 & 0 \\ a_{n-2} & a_{n-1} & a_n & \cdots & 0 & 0 & 0 \\ \cdots & \cdots & \cdots & \cdots & \cdots & \cdots & \cdots \\ a_2 & a_3 & a_4 & \cdots & a_n & 0 & 0 \\ a_1 & a_2 & a_3 & \cdots & a_{n-1} & a_n & 0 \\ a_0 & a_1 & a_2 & \cdots & a_{n-2} & a_{n-1} & a_n \end{pmatrix}_{(n+1) \times (n+1)}$$

and

$$\bar{A}^* = \begin{pmatrix} a_0 & 0 & 0 & \cdots & 0 & 0 & 0 \\ a_1 & a_0 & 0 & \cdots & 0 & 0 & 0 \\ a_2 & a_1 & a_0 & \cdots & 0 & 0 & 0 \\ \cdots & \cdots & \cdots & \cdots & \cdots & \cdots & \cdots \\ a_{n-2} & a_{n-3} & a_{n-4} & \cdots & a_0 & 0 & 0 \\ a_{n-1} & a_{n-2} & a_{n-3} & \cdots & a_1 & a_0 & 0 \\ a_n & a_{n-1} & a_{n-2} & \cdots & a_2 & a_1 & a_0 \end{pmatrix}_{(n+1) \times (n+1)}$$

Step 2. Determine

$$\bar{\lambda} = [\lambda_n, \lambda_{n-1}, \dots, \lambda_0]_{(n+1) \times 1} \quad \text{and} \quad \bar{\lambda}^* = [\lambda_0^*, \lambda_1^*, \dots, \lambda_n^*]_{(n+1) \times 1}$$

by solving the equations

$$\bar{A} \cdot \bar{\lambda} = \bar{b} \quad \text{and} \quad \bar{A}^* \cdot \bar{\lambda}^* = \bar{b}^*,$$

where

$$\bar{b} = [a_n^2, 0, \dots, 0]_{(n+1) \times 1} \quad \text{and} \quad \bar{b}^* = [a_0^2, 0, \dots, 0]_{(n+1) \times 1}$$

respectively.

Step 3. Determine the co-factors of $(1, 1)$ entries with respect to \bar{A} and \bar{A}^* , which are denoted by $\bar{A}_{a_n(1,1)}$ and $\bar{A}_{a_0(1,1)}^*$, respectively, and obtain the transpose of $\bar{A}_{a_n(1,1)}$ and $\bar{A}_{a_0(1,1)}^*$ given by

$$\bar{A}_{a_n(1,1)}^T = \begin{pmatrix} a_n & a_{n-1} & a_{n-2} & \cdots & a_3 & a_2 & a_1 \\ 0 & a_n & a_{n-1} & \cdots & a_4 & a_3 & a_2 \\ 0 & 0 & a_n & \cdots & a_5 & a_4 & a_3 \\ \cdots & \cdots & \cdots & \cdots & \cdots & \cdots & \cdots \\ 0 & 0 & 0 & \cdots & a_n & a_{n-1} & a_{n-2} \\ 0 & 0 & 0 & \cdots & 0 & a_n & a_{n-1} \\ 0 & 0 & 0 & \cdots & 0 & 0 & a_n \end{pmatrix}_{n \times n}$$

and

$$\bar{A}_{a_0(1,1)}^{*T} = \begin{pmatrix} a_0 & a_1 & a_2 & \cdots & a_{n-3} & a_{n-2} & a_{n-1} \\ 0 & a_0 & a_1 & \cdots & a_{n-4} & a_{n-3} & a_{n-2} \\ 0 & 0 & a_0 & \cdots & a_{n-5} & a_{n-4} & a_{n-3} \\ \cdots & \cdots & \cdots & \cdots & \cdots & \cdots & \cdots \\ 0 & 0 & 0 & \cdots & a_0 & a_1 & a_2 \\ 0 & 0 & 0 & \cdots & 0 & a_0 & a_1 \\ 0 & 0 & 0 & \cdots & 0 & 0 & a_0 \end{pmatrix}_{n \times n},$$

respectively.

Step 4. Determine

$$\bar{c} = [c_{n-1}, c_{n-2}, \dots, c_0]_{n \times 1} \quad \text{and} \quad \bar{c}^* = [c_1^*, c_2^*, \dots, c_n^*]_{n \times 1}$$

which are obtained from

$$\bar{c} = \bar{A}_{a_0(1,1)}^{*T} \cdot \bar{\lambda}_n \quad \text{and} \quad \bar{c}^* = \bar{A}_{a_n(1,1)}^T \cdot \bar{\lambda}_0^*,$$

where

$$\bar{\lambda}_n = [\lambda_{n-1}, \lambda_{n-2}, \dots, \lambda_0]_{n \times 1} \quad \text{and} \quad \bar{\lambda}_0^* = [\lambda_1^*, \lambda_2^*, \dots, \lambda_n^*]_{n \times 1},$$

respectively.

Step 5. Determine an unique positive roots t_0 and t'_0 by solving the equations

$$|a_n|^2 t^{2n} - \sum_{j=1}^n |c_{n-j}| t^{n-j} = 0 \quad \text{and} \quad |a_0|^2 t^{2n} - \sum_{j=1}^n |c_j^*| t^{n-j} = 0,$$

respectively.

Also, for finding ρ_0 and ρ'_0 from Theorem 1.4, at first, we calculate the d_j 's by the following rule

$$\begin{aligned} d_p &= \binom{n}{n-p} a_n (z_0^*)^{n-p} + \binom{n-1}{n-p-1} a_{n-1} (z_0^*)^{n-p-1} + \dots \\ &\quad + \binom{n-k}{n-p-k} a_{n-k} (z_0^*)^{n-p-k} + \dots + \binom{p+1}{1} a_{p+1} z_0^* + \binom{p}{0} a_p; \\ p &= 0, 1, 2, \dots, n, \end{aligned}$$

with

$$\binom{0}{0} = 1, \quad (z_0^*)^0 = 1, \quad \binom{r}{-j} = 0, \quad \binom{r}{0} = 1; \quad r, j = 1, 2, \dots, n,$$

and

$$z_0^* = -\frac{a_{n-1}}{na_n}.$$

Now, set

$$a_j = d_j; \quad j = 1, 2, \dots, n$$

and obtain t_0 and t'_0 by using the above steps (Step 1 to Step 5), and set $\rho_0 = t_0$ and $\rho'_0 = t'_0$ respectively.

3. AN IMPROVEMENT OF THE CAUCHY RADIUS

In this section, we establish that the new upper bounds of Theorem 1.3 are an improvement of the Cauchy radius of $p(z)$. For this, it is sufficient to prove $\rho[\lambda(z)p(z)] \leq \rho[p(z)]$, i.e., $t_0 \leq r_0$. From Theorem 1.3, it is clear that the upper bound is the Cauchy radius t_0 of $\lambda(z)p(z)$ which is an unique positive root of the equation $H(t) = 0$, where

$$H(t) = |a_n|^2 t^{2n} - R(t), \quad R(t) = \sum_{j=1}^n |c_{n-j}| t^{n-j}.$$

Now

$$\begin{aligned} R(r_0) &= \sum_{j=1}^n |c_{n-j}| r_0^{n-j} = \sum_{j=1}^n \left| \sum_{k=0}^{n-j} a_k \lambda_{n-j-k} \right| r_0^{n-j} \\ &\leq \sum_{j=1}^n \left(\sum_{k=0}^{n-j} |a_k| |\lambda_{n-j-k}| \right) r_0^{n-j} = \sum_{k=0}^{n-1} |\lambda_k| r_0^k \left(\sum_{j=0}^{n-k-1} |a_j| r_0^j \right). \end{aligned}$$

So,

$$|a_n|^2 r_0^{2n} - R(r_0) \geq |a_n|^2 r_0^{2n} - \sum_{k=0}^{n-1} |\lambda_k| r_0^k \left(\sum_{j=0}^{n-k-1} |a_j| r_0^j \right).$$

Again the values λ_k , for $k = 0, 1, \dots, n-1$, are satisfying the following n equations

$$\sum_{k=0}^j a_{n-j+k} \lambda_{n-k} = 0; \quad j = 1, 2, \dots, n$$

with $\lambda_n = a_n$. These give

$$|a_n| |a_{n-j}| = \left| \sum_{k=1}^j a_{n-j+k} \lambda_{n-k} \right|; \quad j = 1, 2, \dots, n \quad (\text{as } \lambda_n = a_n),$$

and so

$$|a_n| |a_{n-j}| \geq \left(|a_n| |\lambda_{n-j}| - \sum_{k=1}^{j-1} |a_{n-j+k}| |\lambda_{n-k}| \right); \quad j = 1, 2, \dots, n.$$

Now, we multiply the above inequalities by r_0^{n-j} for $j = 1, 2, \dots, n$ successively and by adding them we get

$$\begin{aligned} |a_n| \sum_{j=0}^{n-1} |a_j| r_0^j &\geq |a_n| \sum_{j=0}^{n-1} |\lambda_j| r_0^j - \sum_{k=1}^{n-1} \frac{|\lambda_k|}{r_0^{n-k}} \left(\sum_{j=n-k}^{n-1} |a_j| r_0^j \right), \\ |a_n|^2 r_0^n &\geq |a_n| \sum_{j=0}^{n-1} |\lambda_j| r_0^j - \frac{1}{r_0^n} \sum_{k=1}^{n-1} |\lambda_k| r_0^k \left(|a_n| r_0^n - \sum_{j=0}^{n-k-1} |a_j| r_0^j \right), \\ |a_n|^2 r_0^{2n} &\geq |a_n| r_0^n \sum_{j=0}^{n-1} |\lambda_j| r_0^j - |a_n| r_0^n \sum_{k=1}^{n-1} |\lambda_k| r_0^k \\ &\quad + \sum_{k=1}^{n-1} |\lambda_k| r_0^k \left(\sum_{j=0}^{n-k-1} |a_j| r_0^j \right), \end{aligned}$$

or

$$|a_n|^2 r_0^{2n} \geq |a_n| r_0^n |\lambda_0| + \sum_{k=1}^{n-1} |\lambda_k| r_0^k \left(\sum_{j=0}^{n-k-1} |a_j| r_0^j \right).$$

Using the above inequality, we have

$$\begin{aligned} |a_n|^2 r_0^{2n} - R(r_0) &\geq \\ |a_n| r_0^n |\lambda_0| + \sum_{k=1}^{n-1} |\lambda_k| r_0^k \left(\sum_{j=0}^{n-k-1} |a_j| r_0^j \right) &- \sum_{k=0}^{n-1} |\lambda_k| r_0^k \left(\sum_{j=0}^{n-k-1} |a_j| r_0^j \right), \end{aligned}$$

or

$$|a_n|^2 r_0^{2n} - R(r_0) \geq |a_n| r_0^n |\lambda_0| - |\lambda_0| \left(\sum_{j=0}^{n-1} |a_j| r_0^j \right),$$

or

$$|a_n|^2 r_0^{2n} - R(r_0) \geq |a_n| r_0^n |\lambda_0| - |\lambda_0| |a_n| r_0^n \left(\text{as } |a_n| r_0^n = \sum_{j=0}^{n-1} |a_j| r_0^j \right).$$

Clearly,

$$|a_n|^2 r_0^{2n} - R(r_0) \geq 0.$$

Therefore, we conclude that

$$t_0 \leq r_0, \text{ i.e., } \rho[\lambda(z)p(z)] \leq \rho[p(z)].$$

4. PROOF OF THEOREMS

Proof of Theorem 1.3. At first, we consider a polynomial $g(z)$ defined by

$$g(z) = \lambda(z)p(z),$$

where

$$\lambda(z) = \lambda_n z^n + \lambda_{n-1} z^{n-1} + \cdots + \lambda_1 z + \lambda_0$$

is a complex polynomial of degree n whose coefficients λ_k , for $k = 0, 1, \dots, n-1$ are to be determined.

Clearly,

$$g(z) = a_n \lambda_n z^{2n} + \sum_{j=1}^n b_{2n-j} z^{2n-j} + \sum_{j=1}^n c_{n-j} z^{n-j},$$

where

$$b_{2n-j} = \sum_{k=0}^j a_{n-j+k} \lambda_{n-k}, \quad c_{n-j} = \sum_{k=0}^{n-j} a_k \lambda_{n-j-k}; \quad j = 1, 2, \dots, n.$$

Now, we choose the values of $\lambda_n, \lambda_{n-1}, \dots, \lambda_0$ for which

$$a_n \lambda_n = a_n^2 \text{ and } b_{2n-j} = 0; \quad j = 1, 2, \dots, n.$$

Determine $c_{n-1}, c_{n-2}, \dots, c_0$ by using the known values of $\lambda_n, \lambda_{n-1}, \dots, \lambda_0$ from the relations

$$c_{n-j} = \sum_{k=0}^{n-j} a_k \lambda_{n-j-k}; \quad j = 1, 2, \dots, n.$$

So $g(z)$ becomes

$$g(z) = a_n^2 z^{2n} + \sum_{j=1}^n c_{n-j} z^{n-j}.$$

Now given $|z| > 0$,

$$|g(z)| \geq |a_n|^2 |z|^{2n} - \sum_{j=1}^n |c_{n-j}| |z|^{n-j}.$$

Clearly, the equation

$$|a_n|^2 t^{2n} - \sum_{j=1}^n |c_{n-j}| t^{n-j} = 0$$

has exactly one positive root, say t_0 , and so

$$|a_n|^2 t^{2n} - \sum_{j=1}^n |c_{n-j}| t^{n-j} > 0, \text{ if } t > t_0,$$

which implies

$$|g(z)| > 0, \text{ if } |z| > t_0.$$

Therefore, all the zeros of $g(z)$ lie in the disc $|z| \leq t_0$, and it follows that the zeros of $p(z)$ lie in

$$|z| \leq t_0.$$

In case if $a_0 \neq 0$, we choose a polynomial

$$\lambda^*(z) = \lambda_0^* z^n + \lambda_1^* z^{n-1} + \dots + \lambda_{n-1}^* z + \lambda_n^*$$

for which the first n terms latter of the leading term of

$$g^*(z) = \lambda^*(z) p^*(z)$$

vanish with $\lambda_0^* = a_0$, where

$$p^*(z) = z^n p\left(\frac{1}{z}\right).$$

Now

$$g^*(z) = a_0 \lambda_0^* z^{2n} + \sum_{j=1}^n b_j^* z^{2n-j} + \sum_{j=1}^n c_j^* z^{n-j},$$

where

$$b_j^* = \sum_{k=0}^j a_{j-k} \lambda_k^*, \quad c_j^* = \sum_{k=0}^{n-j} a_{n-k} \lambda_{j+k}^*; \quad j = 1, 2, \dots, n.$$

As for

$$\lambda_0^* = a_0 \quad \text{and} \quad b_j^* = 0; \quad j = 1, 2, \dots, n,$$

we can uniquely determine $\lambda_1^*, \lambda_2^*, \dots, \lambda_n^*$ and consequently we determined the polynomial $\lambda^*(z)$. Now we obtain c_j^* for $j = 1, 2, \dots, n$ by using the relations

$$c_j^* = \sum_{k=0}^{n-j} a_{n-k} \lambda_{j+k}^* \text{ for } j = 1, 2, \dots, n.$$

So

$$g^*(z) = a_0^2 z^{2n} + \sum_{j=1}^n c_j^* z^{n-j}.$$

For $|z| > 0$,

$$|g^*(z)| \geq |a_0|^2 |z|^{2n} - \sum_{j=1}^n |c_j^*| |z|^{n-j}.$$

As the equation

$$|a_0|^2 t^{2n} - \sum_{j=1}^n |c_j^*| t^{n-j} = 0,$$

has exactly one positive root, say t'_0 , which gives

$$|g^*(z)| > 0, \text{ for } |z| > t'_0.$$

This leads us to the desired result. \square

Proof of Theorem 1.4. First of all, we construct a transformation from the z -plane to the ω -plane defined by

$$\omega = L(z) = z - z_0^*,$$

where z_0^* is a complex number, which needs to be determined so that the polynomial $p(z)$ in the z -plane transforms to $T(\omega)$ in the ω -plane with the property that the coefficient of ω^{n-1} in $T(\omega)$ is absent.

Clearly,

$$\begin{aligned} T(\omega) &= p(\omega + z_0^*) \\ &= d_n \omega^n + d_{n-1} \omega^{n-1} + d_{n-2} \omega^{n-2} + \dots + d_1 \omega + d_0, \end{aligned}$$

where

$$\begin{aligned} d_p &= \binom{n}{n-p} a_n (z_0^*)^{n-p} + \binom{n-1}{n-p-1} a_{n-1} (z_0^*)^{n-p-1} + \dots \\ &\quad + \binom{n-k}{n-p-k} a_{n-k} (z_0^*)^{n-p-k} + \dots + \binom{p+1}{1} a_{p+1} z_0^* + \binom{p}{0} a_p; \\ p &= 0, 1, 2, \dots, n, \end{aligned}$$

with

$$\binom{0}{0} = 1, \quad (z_0^*)^0 = 1, \quad \binom{r}{-j} = 0, \quad \binom{r}{0} = 1; \quad r, j = 1, 2, \dots, n.$$

As the coefficient of ω^{n-1} in $T(\omega)$ is absent, i.e., $d_{n-1} = 0$, i.e.,

$$\binom{n}{1} a_n z_0^* + \binom{n}{0} a_{n-1} (z_0^*)^0 = 0,$$

which can determine the value of

$$z_0^* = -\frac{a_{n-1}}{na_n}.$$

Using Theorem 1.3 on $T(\omega)$ in the ω -plane, we obtain that all the zeros of $T(\omega)$ lie in the circular region

$$|\omega| \leq \rho_0,$$

and when $d_0 \neq 0$, the zeros of $T(\omega)$ lie in the annular region

$$\frac{1}{\rho_0'} \leq |\omega| \leq \rho_0$$

in the ω -plane.

Clearly $L^{-1} : z = L^{-1}(\omega) = \omega + z_0^*$ is the inverse mapping of L from the ω -plane to the z -plane and it is an Entire Linear Transformation. So it preserves the shape.

Now we consider a circle in the ω -plane defined by

$$\Omega : |\omega| = \rho_0.$$

Because

$$L^{-1}(\Omega) : |z - z_0^*| = \rho_0$$

and

$$L^{-1}(0) = z_0^* \in \text{Int}(L^{-1}(\Omega)) : |z - z_0^*| < \rho_0,$$

we obtain that the zeros of $p(z)$ must lie in the circular region

$$|z - z_0^*| \leq \rho_0,$$

in the z -plane. Also, for $d_0 \neq 0$, by applying a similar argument, we get the desired result. \square

REFERENCES

- [1] S. D. Bairagi, V. K. Jain, T. K. Mishra and L. Saha, *On the location of the zeros of certain polynomials*, Publ. Inst. Math., Nouv. Sér., **99** (2016), 287–294.
- [2] P. Batra, M. Mignotte and D. Ștefănescu, *Improvements of Lagrange's bound for polynomial roots*, J. Symbolic Comput., **82** (2017), 19–25.
- [3] A. L. Cauchy, *Exercice de Mathématiques, Année IV*, De Bure frères, Paris, 1829.
- [4] S. Das, *Annular bounds for the zeros of polynomials*, Bull. Math. Soc. Sci. Math. Roumanie (N.S.), **63** (111) (2020), 335–347.
- [5] B. Datt and N. K. Govil, *On the location of the zeros of a polynomial*, J. Approx. Theory, **24** (1978), 78–82.
- [6] M. Dehmer, *On the location of zeros of complex polynomials*, Journal of Inequalities in Pure and Applied Mathematics, **7** (2006), 1–13.
- [7] M. Dehmer and A. Mowshowitz, *Bounds on the moduli of polynomial zeros*, Appl. Math. Comput., **218** (2011), 4128–4137.
- [8] V. K. Jain, *On Cauchy's bound for zeros of a polynomial*, Approximation Theory and its Applications, **6** (1990), 18–24.
- [9] V. K. Jain, *On Cauchy's bound for zeros of a polynomial*, Turkish J. Math., **30** (2006), 95–100.
- [10] V. K. Jain and V. Tewary, *A refinement of Cauchy's bound for the moduli of zeros of a polynomial*, Bull. Math. Soc. Sci. Math. Roumanie (N.S.), **61** (109) (2018), 173–185.
- [11] J. L. Lagrange, *Sur la résolution des équations numériques*, Mémoires de l'Académie royale des Sciences et Belles-lettres de Berlin, **XXIII** (1769), 539–578.

- [12] M. Marden, *The Geometry of polynomials*, Mathematical Surveys and Monographs, Vol. 3, American Mathematical Society, Providence R.I., 1966.
- [13] A. Melman, *Improved Cauchy radius for scalar and matrix polynomials*, Proc. Amer. Math. Soc., **146** (2018), 613–624.
- [14] Q. I. Rahman and G. Schmeisser, *Analytic Theory of Polynomials*, Clarendon Press, Oxford, 2002.
- [15] Y. J. Sun and J. G. Hsieh, *A note on the circular bound of polynomial zeros*, IEEE Transactions on Circuits and Systems I: Fundamental Theory and Applications, **43** (1996), 476–478.

Received February 16, 2022

Accepted May 21, 2022

Kurseong College

Department of Mathematics

Kurseong-734203, West Bengal, India

E-mail: subhasis091@yahoo.co.in

<https://orcid.org/0000-0003-1095-2841>